Determinare il massimo ed il minimo delle funzioni seguenti sugli insiemi
a flanco indicati:

flr,y) =32 +2y V={(z,y):2+y=12¢c]0,3]}

flx,y)=2+5y V={(z,y): —x+3y+y* =0,y € [-1,10]}

flay)=20—y* V={(z,y): —w+5y=1y€[-72]}
fle,y)=22+5y V= {(x,y):2" —y* =0,y € [-3,2]}
fay) =z+y V=A_(zy) 2" +y="Ty¢€[-15]}
flay)=z+y V={(z,y): 2" =4y"y € [35]}
flay)=z-2 V={(z,y):2" +y°/2=2}
flay)=z—y* V={(y) 2" +1=y"ye[-35]}
flay) =2~y V=A{(zr,y):3:> +2=y 2 € [-7,2]}
flay)=y V={(z,y) 2" + 2" — 22y — 2 =0}
flay)=x+2y V={(z,y):2°/4+2y" <1}

flay)=bz+y V={(z,y):2*+2y° <1}



fley)=3z—y V={(zy): 2 +y* <1,y >0}

fla,y)=x+3y V={(z,y):1<a®+y* <4}



